
1𝑏𝑎𝑟 =
105𝑁

𝑚2
= 105𝑃𝑎 = 100𝑘𝑃𝑎 

𝐴1 = 𝜋𝑟12 = 502,65. 10−3 

𝐴2 =
1

4
𝜋𝑑22 = 0,0113𝑚2 

𝑣2 =
375

3,6
= 104,17 𝑚/𝑠 

𝑣1 = 𝑣2 (
𝑑2

𝑑1
)

2

= 2,344𝑚/𝑠 

𝑃 = 1250(9,8)(312) = 3,82𝑀𝑊 = (𝑝2𝐴2 − 𝐺)𝑣2 = (0,0113𝑝2 − 1250(9,81))104,17 

𝑝2 = 43,3𝑏𝑎𝑟 

𝑝2 − 𝑝1 = 1 𝑏𝑎𝑟 = 105 𝑁/𝑚2 

𝑃

𝐴1𝑣1
+ 𝜌𝑔ℎ1 +

1

2
𝜌𝑣12 = (𝑝2 − 𝑝1) + 𝜌𝑔ℎ2 +

1

2
𝜌𝑣22 

𝑃

𝐴1𝑣1
=  𝑝2 − 𝑝1 + 𝜌𝑔ℎ2 +

1

2
𝜌𝑣22 − (+𝜌𝑔ℎ1 +

1

2
𝜌𝑣12) 

𝑃

𝐴1𝑣1
= (𝑝2 − 𝑝1) + 𝜌𝑔(ℎ2 − ℎ1) +

1

2
𝜌(𝑣22 − 𝑣12) 

𝑃

𝐴1𝑣1
= 105 + 1000(9,81)(30) + 500(104,172 − 2,3442) 

𝑃

𝐴1𝑣1
= 58,17. 105 𝑁/𝑚2 

𝑃𝑒𝑙𝑒𝑘𝑡𝑟𝑖𝑠𝑐ℎ =
𝐴1𝑣1(59,2. 105)


=

502,65. 10−3(2,344)(58,17.105)

0,7
= 9,8𝑀𝑊 

Hydraulisch vermogen 6,86 MW  (2 pompen van 3,5MW elk ,3e pomp reserve) 

𝑝2 − 𝑝1 = 1𝑏𝑎𝑟 

𝑝1 = 𝑝2 − 105 = 42,3𝑏𝑎𝑟 

druk aan de ingang   

𝑃

𝐴1𝑣1
+ 𝑝1 = 58,17 + 42,3 = 100,5𝑏𝑎𝑟 

 


